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(iii) 4—5 37 T17 T & I AT 150 J1551 3 &7 /
(iv) 6 371 1T F¥1 & I TTHT 200 31551 3 &7 /
(v) UFIFT F gt 9T Grg-aqrd & 57 Far

General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. ‘Yo ®M HEH H TR B 39w H YGE  FiohdT W6 o 1Y H
Esuckaiced 1

‘Management is the process of getting things done.’ State the meaning

of the term ‘process’ used in this statement.

2. YRR 370 & Ueh dcd o ®9 H IR 1 39 18U | 1

Give the meaning of ‘authority’ as an element of delegation.

3. 3T 'GISHICHS &Te 1 ATH FATST St HTHa-T1ith o SUANT hl ShRIGHITedm i
EGEIEGIRA 1

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

4.  HETHE BREARMY G et Tk Y T ol Jeai@ i | 1

State the role of ‘gang boss’ in functional foremanship.
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5. Toxfiam ol & @ foret v folw g foxfi worwr & ofwafa o1 sew
IS Ta SiaATRTar Jierd gt ® | i i1 AW 9dqTd U 36eR 3o
ShIfSTT | 1

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.

6. TfeRt g ATt ST Toh JaT HeE-TeseR ©, 4 310t “Thee Wgae fafee’
FHEHT TG S o6 TOTC Tk g, FeH fesmeR J@en 9 i 3 & |
32 fiol forn foF 3 fa7 0 us gde waman qen @ UEi SeE
TS grem it yarsr ghial o foTT shiferT THeq1att ot ARISH HAT | i
Tt o ToTT 3= 918 o Wad o1 9uW aa fohe R fora | 3em g @i
3o Toremfelat st Aieg it wfaferft=T oM e 8 BiaT o | 98 UiEd & S
T Toh 3TeRT HaETd FETC 1 L 34T 81 @ Toh of BIZISRITIST Sl &Ferel <l
9l IGANT L AT, o Ikt i Eiie o TR § TR R © 9 |
“TFeHe gae fafiee’ o wod o Jg@™ | Y qon W et filed wmgae
fafiee’ & am @ sron fifdn don Ryt 1 e =en ® 9 | Ul 3
TeF § Tk foRaT 3R 97 wEaE @ T sTem-ste fafan feg fomm o
I TRt Tk Wit weia Eld fSraee T S o g R S |
T 9 FEHd 8 T |
“Tee wrgde fafiee’ i Tt St ATaweharel i g9Tfad i arel =eeh
! YT | 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first

floor of a nearby building. Their major expense was money spent on
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photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not
sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them

without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’

7. Tauvm % 36 SR &1 A SATST S SUMIRRISTT Sl BH o 3cdTal shi Ol o °
Trafoa | 1

Name the marketing function which is concerned with informing the

customers about the firm’s products.

8. WIS H Uk T HMER § e il Tk Uehe @liaT qei ar foh 39 oiad
T {3 TTE e T0E €9 9 TE ¢ S Hend o | 38 6! R et |
1 | T faRaa et 95d §U 0T | I8 Sooi@ TRt Tk 3 a7 ffvea
il Toh ISR § Torem™ Yekel ohi 33T fofam STw qen Sieq & guied oieidi o

1Y ST H 9T Yohe Iuaiey kY feu Sid|

S = T8 ITHIAT AR 1 SN TohdT IHehT oo hITST | 1

Manuj bought a packet of chips from a local shopkeeper and found that
the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.
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9. ‘frESE sl forel oA foryarsti sl wHETST | 3

Explain any three features of ‘Planning.’

10. #ft 9= 9 “foshieh TewmseS & st § 3 fafie yehr & forgpe M
o1 ATHT FL T8 © | T3 H Sgd & 6=y o1 TR AT e A2l & a1 @
g | 3T AU qF A9, e srefi-eredt oot w s ot R, @ sEem
T G o oI et |
Jadt | g foh 32w | gt YRR o o o o TR 35 fUar & e o |
3T fuar 1o sd=nteEn | fovema 7 wd 9 | 39 ufomresy e ue
FHAT AT TH-gE F TSN ! THHE 1 H T T 9T o | $9h BRI
AR G A o TAT AT hI T A 2 91 & off |
(a7) Wt foreel @1 T arened i yem Hifery e wwer T
TrETITESIST 370 A& ol ITH el 3 1 T off |

() IWRE () 9 ¥ UgAH TC Yk YT o YR hi Teh TR AT
Eggickaln 3

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on

the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find
out the reason.

Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.
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11. GIR TewEes fafiee’ & fouum steasr- iy, 39 Yerersh - 4 qon
e GE1EH Telaeh-SaAlfd 3 hea Bied s ol forn |
FA % G HRER] Ya-sh J A 99199 T4 SAfd bl e 3R
3T Y foRa foF 97 Te Bied ¥ e @l 9el 1 R | I8 gia s
BT AN 3 e fea fob 3gehl srefieer A 3teten uled sigd & a7 @
Torverfar 2 | afs vergera O 38 S R T Se ar 9 et srreavae sl
Mt | g FEHT Ta-ush 38 [OTC T8Hd 81 T | HHN STeTeR! died = iy
fereed’ O Traeh foha Smgia O weumssist fartiee’ o foru fomue srsaen
o 93 o1 T e | o st o fTe Uer Sogeh SreamRit ol sl | @t BT |
W % fh e ol e § 3uctsy T I Y Sia-10@ e 1)
fe= |
(37) Ik Tk UGl hl 9 o TofT GAR Tretmesis fAfHes gRT S-h Wit oh

Gl o AT SIS |

(9) I U2 T 37cff o Tk Gl o Teh-Teh A 1 Sooid oi s | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,

the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to
leave the company.

The Chief Executive Officer of the company called Jyoti the Human
Resource Manager and requested her to fill up the vacancies before
leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters’ who advertised for the post of marketing head for
‘Senor Enterprises Ltd., They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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12. it O™ 980 WO Sk o T 9| ok TR o Al L T o |
ST S5d G o Fifeh sk (AT €9 8 AT 6T YA FL &I AT | 37k
3TN T TSR Hod ol FAHd €9 § 9§ T o7 | Sk o o ol SRR
T I YU R AT AT F91F 480 SHd o o6 39 =Jwon & @ dF *
TN T oA TG | o I Th 6601 BIH ok AT 3¢ & o 3T @G h
SAMFRR T o7 | I/ U T ot Ty et ot e 3T’ 38 30 oF &
3N | 5 S T4 faf=iiTa s o e e, ey & 38 YSihma o o1 ot
rIaT fora |

RIS M T Yo 40% §¢ TAT HR G o6 T30 1 IR o X 7
FAUS B AT | 3Y 2 FAUS T FH AT G | I8 1 FUS T T19 80
fau 3R 1 IS T @9 W@ foaw | W wiafa wa fafema 9 (S6f) 3
GioTe aTell ¥ YRdrs @ Haftd S & 916 369 A-FHad w1 gart g |
Tl T 1T e 9 9T SHIAT S |

I oSe W UlhAl ol 3gd X gL Wl R fonfed fermell a1 shrdl =l
R T 3T Ioei@ hIfSTT | .

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was
earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to
buy shares of the bank. He called one of his rich friends Sudhir and
asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of ¥ 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On
regular inspection and by conducting enquiries of the brokers involved,
Securities and Exchange Board of India (SEBI) was able to detect this
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irregularity. The SEBI  imposed a heavy penalty on
Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two
functions that were performed by SEBI in the above case.

13. SUHIHT TET o U TR-Teh Tl g0 @F9d foht ST ot Tl i
T T Jooid ShITSTT | 3

State any three functions performed by non-governmental organisations

for consumer protection.

14. Jo+9 % T & foheel =R fogat sl Tuetsy | 4

Explain any four points of importance of management.

15. bl g0 BT &1 | =NSd oM 9T <A1l <0 H shaldl ¥ Ica1ied sre 31fia, S
for difte foremera =1 fog™ w1 weh formmneff R, 9 w2 o =11 sfean @ =u
foram | fSTeeh 310 9% FS-Fe) ¥ ITed S99 1 ITANT L ITefl R T
STIHLT T T ITehT IR ST | 36 Tk U € & o1 Tk foram qen
34 freq femer g0 stnfSTa fogm oot # wefifa fora | 59 s1gae™ & fog
34 YW JURR & GEATHG foRa T |
STk fedfa o afia sarawTies gaferer o STl S Te=i- Ud aHesy | 4

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.
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16. i fafuee’ 4 <1 * T USS &7 H, el FE % Tgd A HTW
3uetsy o, war fmfor it ek %ot Tenfud s w1 ol fomm | 39 & &
A 9 Eelt fafiee’ & 39 Jam o & Rt | St | ST Rl R
T srmeRita s & fow sweot 3 =g oft faola fomn for et ofeer & w5,
STEATS, TSR 3eaTia et sgd €t gloemd «f 3uesy s S |
e fafiee’ o staferer oy A e Ty o e | T o= wfaarh
IO T IS Yook ST hl Wal feifiee’ gr1 afsia fop i
T I ATH h TN ohT UdT T o foTd el |
3T 9T o ST & AT H eI 3evdl oht WifH o forg fafym
forenati & offer srafeda ar-aa | s T i 9 91d © foR e foRae
i ITErh T SaTeeE 2 | e S IaT © foh 3k TS H TEIN |
ST o HILTH | € 21 © | Safeh Wial fafiee’ oy sl SATawIehdT{ar
ooft faemett § vanfea g9 it egafa yem wdt 7, @ gemstt & iy
TATE BT 2 37 I off i I e S e |
(37) HSH o I YR i 1T STt Gryyor shi |eft fewment § venfed & i
Wit fafiee’ =it egafd JaM A g |

(&) a7 (37) § Yg=H T TS & TR o Ueh A= ATH 1 3@ hITIT |

(|) W0 T gl 1 3@ iV S HLial fafies’ T s esifvd s
el € | 4

‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the

backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other
facilities like school, hospital, market etc. in the factory premises.

‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of

earning huge profits by ‘Steelo Ltd.’
66/1/1 9 [P.T.O.

Downloaded-From:http://www.cbseportal.com



Downloaded From:http://www.cbseportal.com

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which

lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.’ the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)
above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to

the society.

17. “31ew fAfHee’ 189 1l o &9 § R R /1 ot | e 7y 3 EW
W AT 3T USRI ol TG G ok To1e, Tafer U=l <l A1 Rt o | e
1 i o STTHR a1 A8 SIETS g AT AT o1, Seifeh ITeh! 39 TSoh /I
SR AT A off | SOH 1 Shael AT 90T T o fuq Fei-shedt I
A TaEi ohl 3Tehct HY AT St o ToTT HSTeR &A1 9T o7 |
3ok YRR, TfiE HISTcH 3291 <hl ITH o foTe 36 TR & &
TR AT o ST 3 F7fSd o | B o I wRIERT AR hl 59k
IR H AT IAT | IFH A AT R AR, 39 fowT § 39k A1 == bl A
T S AT ifd see €t | ag Fta foran man o wiosy © S afea ad
TEE Teh |1 AT 4T TR ATAT o G0 T TgIANT AT & |1er Ureshi
I & T ATl T 9=l § | SHR TR T9E ISl 3R I
e & F 9 T g ATTeSd ik & 1 i1 IR oL T |
T RIHRT AR FRI TIh Te-el & H o dcd h! [IIarsti &1 3g@
T | 4
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‘Alfa Ltd.” was dealing in renewable energy. To get the business, the
team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members
to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by
the CEO.

18. TH Ol ‘S YR JEA 1 fauum R @ oft, S gEehl uEEn ik
TTEhT ! TG 31 ST aTeft forshar I Sansti o R g Ui o | et
IR § T O FEO] off 3R STefesh A Il o+ & ot | STefeeh
AT o R FHFHT 3 fIa-3u=d GaTell W &IH <A1 s R T | 3Eeh
INUTTHEEEY TTeehi & T1 HETHT o Gl Te 81 T q91 ST 6t Aot §
IOt <l B TS B TS | FANH TR o AT ITATIH FH T W I
Jea 3Heh a1 | Tafid g1 | foeeiyo o o8 wan = foh fasmaioea gansti
i SH H TS T TEehT R AT | 3Tq: FET 4 ST hl AN H I
IR B9 &l THHT FH [T 0 IR FH o T @i g9a 3qm
JTUTT, | $Heh TNOTHEEEY THTS il 38 § HraHt il Tarfd ger 7 |
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(31) STk afvia feafa & fovormerat g0 ot 3t B it gaTm & e /@
TEINUT o AL 1 T FdTd g SHAT I8 hieTg |

(F) T (37) U= T TG ht e ot THesT | 4

A company was marketing ‘water purifiers’ which were very popular

due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the
goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the

above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

19. IR ISR o foheel IR T o1 Iocdd hiTTT | 4

State any four functions of ‘Stock Exchange.’

20. 39N Y9 AY A Qe Stk § 1o feit qff i | 38 T wwa a Fe],
IR & LoaT S aTelt Teh hea1 | b foRaT | 98 38 o] 8§ @ur el oft
3R 39+ I fofg foren fo = st yhr <t o1t v Sifask @ Senfieh
TSHHUT 3oRTS TTIUA UM | 38 3299 Ud oed fuffa feru ofit 32 umw
EAaRERISEIC eI
3T T 339 Tom oy # fafenfsa aftt ® 10% @ ifsia e o | 97
Frofa foqen e fo ot vTa S %, wfesat, goTel seafe € 9E Sl 3Uw
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T A Sk FHA FMH AT fohaml 8 & Bl S | 384 98 off Fofa
foran for @ ht G ok HIEIH | IcATal o 19U ok ToTq |l sTTarwersh =on
1 T ToRaT ST | 36 ITATEH Ta-4eh o ®9 H HIg ol gk foha S
3cared TeRaneti et feafed st o T wient o oft Fofa formm | Aigm
Y WA HFdt W I ST STl FHETHAT ht TAT h YiRid i arett ferawor
o I foRa | 3T STt SHTRAEhT oF 7T 7Y o Hige ohl &emgar fafye Saami
% I Al oF IR | ot giua fora | 3emed B9 W #E R 99 <l
TEA AT TH T 98 W I 100 Feifed o ST hl =wor off i 715 |

ITUh oSS © Ufhal Sl 3§d d gC 3EH M oo ASHISAT o TR

i Tg= AIfST de 3 TwesT | 5
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She
appointed Mohan as a Production Manager who decides the exact
manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, areawise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was
announced.

Quoting lines from the above para identify and explain the different

types of plans discussed.

66/1/1 13 [P.T.O.
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21. 3TV TSTG Al U TEULT FOH] § G | e w9 38 gen
oT | STel 3Heh Teh ohl SITel 1 TS A1 Ul el foh 38 S 7 3R 3Tk wieeie
It oft SIga 9 81 718 © | 3Td: 3H STIATA H Wl shiara TR a9l STeRel J
3Gh! Th TqM hl Tt <) | 39 Teh areft 9 3ueh Tfehrl “oft IR
gHeh! Uk foTiad F=1 &1 | ot AR | qd & e o 9t et i
TR0 o TIC Th-aM S <l T Hid gC T fofad =1 &l | 19 g
Teeh i 39 IS H qaT =el al 389 wEOH] IHER ok STET e qe
ST o &5 hl TEHTS T TG T |

(31) ITH 3TJo0e ¥ 3Igd L U SATENGE Td SHETETNS GrIN0 H
Traf-aa ufr w0t 3fra fif |

(&) ST Trmo & fReel &t foraret @1 et hifsr |

(|) I Fifeafa o s st 9o fohe S arel foRmel a1 qeal &l aea
I | 5

Arun is working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.
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22.

23.

24.

T o I F % HEW W YhE Slad aTa Tl aie foegedi @l
HHATRU| 5

Explain any five points which highlight the importance of controlling

function of management.

“ereer o TorgT=dl o fohegl TR A&T0T oh! HHESY | 6

Explain any four characteristics of ‘principles of management.’

‘rt feafiee’ weh dqdersa famioft sreaeft 2 | sweht 37w ISft ¥ 60 @ R |
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‘Viyo Ltd.” is a company manufacturing textiles. It has a share capital of

% 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of I 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of ¥ 8 lakhs on

capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.
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Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

casce.

(b) Explain briefly the functions of the aspect identified in (a) above.
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